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Pyiry il EF4 ks 112[3]4]65 HEHM) | s (V) | BERO/M) | 228(TD) | #22%(TR) | #£#(D/TR)
513 NEXUSIL& ek ek | 3] 1l 1] 2 4 0 0 7 20 0.35
511 NEXUSIL& =3 2= | N3] 2 |V5 3|v5 V5 4 3 0.75 18 11 1.636
507 SAIBJFC R R /N2 | 3 |v5 [V5 V5 [V5 4 4 1 20 5 4
504 SAIBJFC NEpEFE —Z | N3 4|V ] 2] O V5 4 2 05 12 15 0.8
502 II&BFC FE & M35 [ve ] 3] 1] 3 4 1 0.25 12 18 0.667
- — — - — — 0 0 —
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Pyiry il EF4 P 112[3]4]65 HEHM) | s (V) | BsERW/M) | 223 (TD) | #22%(TR) | &% (TD/TR)
501 WBFC INES FAARER | N2 [ 1 2[V6 | 0 3 1 0.333 7 14 0.5
505 SABIFC NEyE EHE | N3] 2 V6 V5 | 1 3 2 0.667 11 7 1571
506 SAIBJFC A HA | N3] 3] 4] 0 2 3 0 0 6 15 0.4
508 SAIBJFC —5 &8 | N2 | 4]v5 [V5 |V5 3 3 1 15 3
- - - |5 - - - 0 0
- - - 16 - - - 0 0 -
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Pyiry il EF4 P 112[3]4]65 HEHM) | s (V) | BERW/M) | 223(TD) | #22%(TR) | &% (TD/TR)
514 NEXUSAL& ik #FiE | 2 | 1 V5 | 4]|v5 V5 4 3 0.75 19 10 19
515 NEXUSAL& Bl = [N 2] 2|V5 V5 4 2 0.5 13 14 0.929
509 SALBIFC fEs Bk | 2 | 3 [V5 [V5 3|V5 4 3 0.75 18 11 1.636
510 SALBIFC Wil & | o | 4] 4] 4]vs V5 4 2 0.5 18 16 1.125
503 IIZFC E 25 | A3[5] of of of 3 4 0 3 20 0.15
- - - 16 - - - 0 0 -
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JBAL | vy E K4 FE | B | AeH [EES EH | HWREH| B BHE
1 508 SALRJIFC —F ZEE N2 3 3 1.000 15 3 5.000 5.000
2| 507 SALRJIFC EE /N2 4 4 1.000 20 5 4.000 5.000
3| 514 NEXUSAL& fngE FIEA N2 3 4 0.750 19 10 1.900 4,750
4] 509 SAURJIFC RS EBIhK N2 3 4 0.750 18 11 1.636 4500
5| 511 NEXUSAL& = %= /N3 3 4 0.750 18 11 1.636 4500
6| 505 SALBJFC NE 5B N3 2 3 0.667 11 7 1.571 3.667
71 510 SAURJIFC oI #E6S U\ 2 4 0.500 18 16 1.125 4500
8| 5156 NEXUSAL& Rl i /N 2 4 0.500 13 14 0.929 3.250
9| 504 SALBJFC INEpEE —E N3 2 4 0.500 12 15 0.800 3.000
10] 501 flBFC INEG UAAER N2 1 3 0.333 7 14 0.500 2.333
11 502 i&EFC FE 5 /N3 1 4 0.250 12 18 0.667 3.000
12| 506 SAURJIFC AHE X /N3 0 3 0.000 6 15 0.400 2.000
13| 513 NEXUSAL& B 1t /N3 0 4 0.000 7 20 0.350 1.750
14| 503 i&EFC F 23 /N3 0 4 0.000 3 20 0.150 0.750
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